6 months

Events Total

9 months
Events Total Weight

Risk Ratio

M-H, Random, 95% CI Year

Risk Ratio
M-H, Random, 95% CI

319
25
23

29
396

Study or Subgroup

3.5.1 Seroconversion=fourfold rise
Dequadros 1983 188
Abanamy 1992 14
Gans 1998 15
Gans 2004 25
Subtotal (95% CI)

Total events 242

Heterogeneity: Tau? = 0.02; Chi? = 8.84, df = 3 (P = 0.03); 1> = 66%

203
37
18
20

278

Test for overall effect: Z = 2.81 (P = 0.005)

233
53
20

21
327

11.7%
4.2%
5.2%

9.4%
30.5%

0.68[0.61, 0.75]
0.80 [0.54, 1.18]
0.72[0.52, 1.01]

0.91[0.76, 1.08]
0.77 [0.64, 0.92]

3.5.2 Seroconversion=seropositivity among previously seronegative

Miller 1967 3
Dick 1975 3
Wilkins 1979 10
Ogunmekan 1981 6
Halsey 1985 23
Maluf 1985 3
Kiepiela 1991 5
Gans 2001 20

Subtotal (95% Cl)

Total events 73

4
13
31
24
51

4
11

26
164

5
6
41

49
14
12
36

169

5

7
57
10
58
27
21

37
222

2.0%
0.8%
2.6%
1.2%
5.4%
1.8%
1.5%

8.0%
23.3%

0.76 [0.41, 1.42]
0.27 [0.10, 0.76]
0.45[0.26, 0.77]
0.42[0.18, 0.98]
0.53 [0.39, 0.74]
1.451[0.74, 2.83]
0.80 [0.38, 1.68]
0.79 [0.64, 0.98]
0.64 [0.47, 0.87]

Heterogeneity: Tau? = 0.10; Chi? = 18.73, df =7 (P = 0.009); 1> = 63%
Test for overall effect: Z = 2.86 (P = 0.004)

3.5.3 Seroconversion=fourfold rise or seropositivity among previously seronegative

Bolotovski 1994 104
Bolotovski 1994 95
Bolotovski 1994 113
Bolotovski 1994 94
Subtotal (95% CI)

Total events 406

125
142
151

143
561

147
140
130
150

567

156
154
137

158
605

12.2%
11.0%
11.8%

11.1%
46.2%

0.88[0.81, 0.96]
0.74 [0.65, 0.83]
0.79[0.71, 0.87]

0.69 [0.61, 0.78]
0.78 [0.70, 0.87]

Heterogeneity: Tau? = 0.01; Chi? = 12.58, df = 3 (P = 0.006); I> = 76%
Test for overall effect: Z = 4.48 (P < 0.00001)

Total (95% Cl)

Total events 721

1121

1014

1154 100.0%

0.74 [0.68, 0.82]

Heterogeneity: Tau? = 0.02; Chi? = 46.24, df = 15 (P < 0.0001); I* = 68%
Test for overall effect: Z =6.02 (P < 0.00001)
Test for subgroup differences: Chiz=1.33,df =2 (P =0.51), 2= 0%

1983
1992
1998
2004

1967
1975
1979
1981
1985
1985
1991
2001

1994
1994
1994
1994

-~

-
-
-
—
L 4

L 4

0.2

1
0.5
Favours [9 months]

1

2
Favours [6 months]



